Solve the Following Word Problems

Sarah has 3782 marbles. She wants to divide them equally among 4 jars.

Rounded to the nearest thousand, how many marbles will be in each jar?

The population of a town is 6,458 people. Rounded to the nearest thousand, what

is the estimated population of the town?

A school has 4,627 books in its library. Rounded to the nearest thousand, how

many books are there in the library?

The weight of a shipment is 9,846 kilograms. Rounded to the nearest thousand,

what is the approximate weight of the shipment?

A car traveled a distance of 7,195 kilometers. Rounded to the nearest thousand,

how many kilometers did the car travel?

A company produced 5,389 units of a product. Rounded to the nearest thousand,

how many units were produced?
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The budget for a project is $8764. Rounded to the nearest thousand, what is the
estimated budget for the project?

The length of a rope is 4293 meters. Rounded to the nearest thousand, what is the

approximate length of the rope?

A store received a shipment of 6,982 shirts. Rounded to the nearest thousand, how

many shirts were received?

The capacity of a water tank is 3576 liters. Rounded to the nearest thousand, what

is the approximate capacity of the tank?

The cost of a laptop is $5,684. Rounded to the nearest thousand, what is the

approximate cost of the laptop?

A garden has 9,341 flowers. Rounded to the nearest thousand, how many flowers

are in the garden?
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